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Time Allowed—3 Hours Maximum Marks—85
giterelf gerdgya o it § & 397 3
Candidates are required to give their answers in
their own words as far as practicable.

JeE 97 % 3% 9% G kT T &
Marks allotted to each question are indicated
against it.
fagry fesr

Special Instructions :

(i) ST FEe-gRaRl & § g % HT & ST Ry T g
g ge7-ux dikior o@eq ford |
You must write Question Paper Series in the circle

at the top left side of title page of your answer-
book.
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(i) F9f & FUT 3 TEHI A GIT-GET TIT-9F T q9E
TS 8, JuT-YRaw T FE geT-ded forger sfard
el
While answering your questions, you must
indicate on your Answer-book the same Question
No. as appears in your Question paper.

(iii) SAC-YRAHT % &= @rell §71,/9+ 7 BT/

Do not leave blank page/pages in your Answer-
book.

(iv) Tt 997 S &1
All questions are compuiilsory.

V) I% 99X FA-YRaH % diF § G g
Graph paper must be attached in between the
Answer-book pages.

(vi) GIIRrT a1 F9eT B ST T AT Sfard 2
Drawing the diagrams of Geometrical questions
is compulsory.

(vii) 39 997-97 § 25 ge7 &1 g97 degr 1 @ 10 7% 99%
97 2> 3% are, 997 qear 11 @ 20 7% 574% 3/ 5%
e, 997 q&r 21 @ 25 a% 99% S5 9% ard €1
Question paper consists of 25 questions. Q. No. 1
to 10 of 2% marks each, Q. No. 11 to 20 of 37
marks each, Q. No. 21 to 25 of 5 marks each.

1. 9 oEred [ gm 17, 23 @R 29 i &

HCF $iR LCM 711 &I | 2V

Find the LCM and HCF of following integer 17, 23

and 29 by Prime factorisation method. 2Y
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2. aiEu B 6+ /2 uF oAy g ¥ 2%
Show that 6 + /2 is irrational. : 2V

3. e s wedieer e @ sfceemas Ry & eq #ifor |

«/Ex+x/§y=0, «/gx—«/gy=0 2Y

Solve the following pair of linear equation by
substitution method :

V2x+3y=0, V3x-+8y=0 2%
4. TGS BRI GHHT 2x2—-5x +3=07% T S

I | 2Y,
Find the roots of the equation 2x? — 5x + 3 =0, by
factorisation. 2%
5. xR y# uF ddg 7 H O &g (x, y) et
(7, 1) AR (3,5) & T & | 2%

Find a relation between x and y such that the
point (x, y) is equidistant from the points (7, 1) and

3. 5). 2%
6. ScmBr 3 UF g9 W O @ Wyl Y@ it s
RER 60° % HIoT 9Tl & | 2V

Draw a pair of tangents to a circle of radius 5 cm
which are inclined to each other at an angle of 60°.
2%

7. 18m 3T & FHER T 3 T R ¥ & R #1 &
ReRT SJ1 & @ 991 R 1 36N 6 0% T ¥ 1 g
R @ B MR A G H Real g 0 e o AR
T @ SEfs AR H TR 24 me ? 2%
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A Guy wire attached to a vertical pole of height
18 m is 24 m long and has a stake attached to the
other end. How far from the base of the pole should
the stake be driven so that the wire will be taut? 2%

d s #Ifom 6 wael fomg | w9l Y@ W dfen @ o g
% &% 9 ST ol & | 2%
Prove that the perpendicular at the point of contact
to the tangent to a circle passes through the centre.

2%

9. 5 R gon ® 6 3 R & s we 2 R
% = R u% & R 7 89 i mferar 0.992 B | sl
a1 iy & % g 2 foenfiEt @ o e o & Re
el 7 : 2%
It is given that in a group of 3 students, the
probability of 2 students not having the same
birthday is 0.992. What is the probability that the 2
students have the same birthday ? 22

10. ©% F= & 99 OA1 O 2 e wewl | et

e oifepa #
[l B[] B [E] [A]
TG U9 B UF S BH ST & | STDT 1 Wigehar & 3

()AT< & ? (ii))Durg & ? 2%
A child has a die whose six faces show the letter’s
as given below :

[a][B][c][D] [E][A]
The die is thrown once. What is the Probability of
getting (1) A ? (i) D ? 2%
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11. Sr= #f & gfeer g x + 3y — 6 = 0 3R
2x —3y— 12 =0 & 2| A% T B, & A6 & &
I | 3V
Check graphically whether the pair of equations
x+3y—6=0and 2x — 3y - 12 =0 is consistent. If
so, solve them graphically. 3%

12. X¥—4x3+x2+3x+ 13 x*—3x+ 13 9/ §fu | 3%
Divide X’ - 4x>*+x?+3x+ 1 byx*-3x+1. 3%

13. @ AP. ¥ 50 9% &, e deu @@ 12§ o) off<m 1=
106 & | 391 29T U §A B | 3V
AnA.P. consists of 50 terms of which 3" termis 12
and the last term is 106. Find the 29" term. 3%

14. waathd g B -

!M:secA+tanA 3

Vi-sin A
Prove the identity
1flJrs—%nA—:secAJr’tamA 31,
1-sin A
cos 45°
. 1 2
15. T S T - sec 30° + cosec 30° e
cos 45°
Evaluate : 3

sec 30° + cosec 30°

16. 36 IGYS H A% &1 BHioQ e o, 6 #9 H,
(-4,-2),(-3,48),(3,-2) X (2,3) 81 3%
Find the area of the quadrilateral whose vertices,
taken in order, are (—4,—2), (- 3,-5),(3,-2)and
(2, 3). 3
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17. 10 cm Bear e O g9 @ FE Sl = W
AT ARG B ¢ | HG TY gOEUs AR G aH
PBreargTe 1 &b ST BT | 3%
A chord of a circle of radius 10 cm subtends a right
angle at the centre. Find the area of corresponding
minor segment and major sector. 3%

18. ABCD us gwers & frad AB || DC ® dar 36 oot

AO _CO
e g O T st &3 ¢ | avizge ff —— RO il

2 3%

ABCD is a trapezium in which AB || DC and its

diagonals intersect each other at the point O. Show
AO CO

SRASEERART R i F d
that BO DO REZ)

19. o Fifo % Bl o foeg & el 9o @ @il 18w
et % S BT | g B Ham a ErEes
N F% T ARG BT B T A 2 | 3V
Prove that the angle between the two tangents drawn
from an external point to a circle is supplementary
to the angle subtended by the line segment joining
the points of contact at the centre. 3%

20. oA #, SWifhd WM H HABA A B, A
PQ=24cm,PR=7cm§aToegﬁam%a%| 3%

R P
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Find the area of the shaded region in figure, if
PQ =24 cm, PR =7 cm and O is the centre of the

circle. 3%
Q

R AT B

21. UF AEOHR Td F Ao e B gem | 60 .
aﬁmw%mﬁa@w@ﬁgmﬁmﬁ AP
S I S i | 5

The Diagonal of a rectangular field is 60 meters
more than the shorter side. If the longer side is
30 meters more than the shorter side, find the sides

of the field. 5
22. 2 qEY BT & &l B AU 3 G Glet &
YU & T & FIEX Bl & | 5

The ratio of the areas of two similar triangles is

equal to the square of the ratio of their
corresponding sides. 5

23. 4R 3 TR ¥ 3R 0% 8 3@ § 4 m 3T 9 m B
3 W Rya & Rrgatl @ 4R & Rer & 3151 9
& B 5| A F R # =8 6 meter
g 5

The angle of elevation of the top of a tower from
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two points at a distance of 4 m and 9 m. from the
base of the tower and in the same straight line with
it are complementary. Prove that the height of the
tower is 6 m. 5

24. A 6 cm, 8 cm SR 10 cm Brurett @@ o1g & &9
3 Ml Bl oL U G271 S Ml §=ra7 S 8 | 39
M i B 1 P | 5

Metallic spheres of radii 6 cm, 8 cm and 10 cm

respectively, are melted to form a single solid
sphere. Find the radius of the resulting sphere. 5

25, f=faiag ot 225 faormit Susmon & e Sias @

(52T ) %t g A9 ©

SUF I SETh St ST i | 5
sfigae |0-20]20-40 [40-60|60-80 [ 80-100] 100-120
CEI))
SR | 10 | 35 | 52 | 61 38 29 1

The following data gives the information on the
observed lifetimes (in Hours) of 225 electrical

components :

Determine the modal life times of the

components. O
Lifetimes [0-20{20-40(40-60|60-80{80-100{100-120
(in hours)
Frequency | 10 | 35 | 52 | 61 38 29
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